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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your choice (1 2, 3 or 4) and shade your answer on the Optical Answer Sheet.
(20 marks)

1. The value of the digit 5 in 865 973 is

(1) 50
(2) 500

(3) 5000-
(4) 50000

2. Express 8 050 cm in m.
(i) BO5SmM
(2) 85m
(3) 805m
(4) 805m




How many quarters are there in 8*2-? -

w7

(2 20
3) 32
(4) 34

7
Find the value of 11y — 5 + -f—-when y=8.

(1) 220
(2) 180
(3) 97
(4) 64

A rectangular block of wood measunng 50 em by 5 cm by 5 cm was cut into five

equal pieces. What was the volume of each piece of wood?

(1) 210cm3
(2) 250cm3
(3) 1 050 cm?
(4) 1250 cm3




6.

A group of 800 students was asked to choose their favourite food. The pie chart

below shows their choices and the number of students who chose each type of
food. W‘hich type of food was chosen by 40% of the students?

(1)
(2)
(3)
4)

Japanese

Food

Indian Food
Korean Food -
Western Food

Japanese Food

Westemn
Food

160




2. The tablebe“’w shows the scores obtained by Choon Tuck in an online game.

Online Game ‘ ; S Score
Game2 T 25

Find the percentage incr_ease in Choon Tuck’s scores from Game 1 to Game 2.

(1) 150%

(2) 100%
(3) 60%
@)  40%

8. The figure below is not drawn to scale. ABCD is a square. CXY is a triangle.
£DXY =108° and ZBCY = 24° Find. /vy '

A

(1) 4z
2 48° _
(3) 66°

@ 7




9. The figure below is not drawn to scale. It shows a shaded quadrantina
semicircle. The diameter of the semicircle is 28 cm. Find the total area of the

unshaded parts. (Take = = —2;-)

28 cm

(1} 144om?
(2) 154cm?
(3) 308cm?

(4) 616 cm?




10.  Which of the following figure is not a net of the solid below?

1) - (2

3) - @




1.

12.

A group of Brownies calculated their average collection from a fundraising. They
discovered thét if one of-ihem collected $200 more, their average collection would -
be $240. If one of them collected $340 less, their average collection would be
$180. How many Brownies were there in the group?

1)
(2)
(3)
(4)

S O 0 ©

The figure below is not drawn to scale. BCE is an equilateral triangle. ABC and -
AFD are straight lines. If £ZBAF = 22°, what is the difference between the
marked angles, Z/EDF and / BCD?'

(1) 338
(2) 300°
(3) 278°

(4) 218°




13. The ﬁgure below is not drawn to scale ABCD is a square of area 100 m2, ,.
A semuc:rcle and a quadrant he thhm Square ABCD AE = ED '

-Find the area of the shaded part. (Leave your answer in terms of n )

B-

O (100—627r)m?
(2) (100-7> 7 )m?
(3 (100- 12% x )y

3
(4)  (100-18% x )m?

. 14.  There wet.‘e 800 adults at a,carrii\iél. 80% of them were women. Halfway through,
some women left the camival. The ratio of the number of women to the number of

men became 7 : 4. How many women left the carival?

(1) 280 .
(2) 360
(3) 480

(4 640




10

15.  Nine identical rectangular cards are placed in a straight line at an equal distance
from one another as shown below. The total distance taken from the 15t card to

the ot card is 171 cm. The width of each rectangular card is 3 cm.

1st
—

g4l

3

2nd
—

3rd

gth oo 106h
- o ]

A[

Y

171 cm

What is the total distance taken from the 3 card to the 106" cérd? |

(1)
)
3)

(4)

2166 cm
2160 cm
1989 cm
1957 cm

End of Booklet A

(Go dn to Booklet B)
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Questions 16 to 20 caﬁy 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. - (5 marks)

16.  Find the value of 66 — (36 + 3) + 3.

Ans:

17.  Find the value of 22.62 + 30.

Ans:.

. 2 -
18.  The mass of flour in a bag was 5 kg. It was repacked into packets of T kg each.

. What was the most number of packets of flour that were repacked?

Ans:




19.  Alice, Bemice and Clarissa sold 320 donation cards in the ratio of 4:3:1. How

_ many donation cards did Alice sell?

20. The figure below shows the net of a cube. The net is folded to make acube.

~Which letter is opposité letter °F™?

, _ Ans:




4

Questions 21 to 30 carry 2 marks each. Show your working clearly and write your answers
in the spaces provided. For questions which require units, give your answers in the units

stated.

(20 marks)

21. A group of children donated $200 altogether. The table below shows the amount

of money donated by each child in the group.

Amount of money donated per child $1 $2 $3 %4
Number of children 35 24 15 ?
How many children donated $4?
Ans:

22.  The figure below is not drawn to scale. ABCD is a square. XYZis a right-angled

isosceles triangle of area 108 cm2. Find the area of Square ABCD.

Y

Ans: -




23.  Study the solids below carefully.

- -

- Top view . . -

F ront'view Side view Front view Side view
Solid P 7 - Solid Q

(a) Name the view of Solid P and Soiid Q that is the same. {1 mark)

Ans: (a)

(b) Draw the view of Solid P and Solid Q that is the same beib\)v. “a }né'fk)‘ |




24.  Atabookshop, 3 identical pens cost as much as 2 identical notebooks. Each pen
_costs $0.80 less than each notebook. What is the cost of a notebook?

Ans: $

25. The ﬁgure below is not drawn to scale. ABCD is a rhombus. CDE ig an isosceléé
triangle. BCE is a straight line. CE = DE and £ CED = 98°. Find Zx.

D

A

‘Ans: °




26. - Joyce was given a fixed amount of pocket money each month. In January, she
“spent $100 and saved the rest. In February, she spent 10% less and her savings

increased by 25%. How much was Joyce’s pocke_t_money for each month?

- Ans:

27; | vBédck and K.t.j'ala‘ Lumpur are about 360 km apart. At9.00 a.m., Mr Chong
travelled from Bedok to Kuala Lumpur while Mr Ma travelled from Kuala Lum.pur
to Bedok. Mr Chong’s speed was 80 km/h while Mr Ma’s speed was 70 km/h.
‘Both of them did not change their speeds throughout their journeys. At what fime
did they pass each other? R

Ans: o am




28. Ming Ming gave $60 to his sistervand : of the remainder o his brother.

2
In the end, Ming Ming was left with 3 of his money. How much money did Ming

Ming have at first?

Ans:

29. The rectangle below is divided into four parts W, X, Y and Z. The ratio of

LY. Y \'A'l :'.\ A e

Area 3: 5. Theratic ol Area Yo Area Z is 1 : 2. What fraction of

W i .
ATCaG A 1S5S ST o ine e L

- the total area is Area W? Give your answer in its simplest form.

Ans:




30. Azlinda formed the pattern below using white and grey tiles.'Study the pattern
carefully. | T | TR Tl

Pattem1 Pattern

How many white tiles would Azlinda use to build Pattern 77

Ans:

End of Paper
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Questions 1 to 5 carry 2 marks each. Show: your working clearly and write your answers
in the spaces provided. For questions whlch requnre units, give your answers in the units
stated. S (10 marks)

Lyndi had 15:m of cloth. She cut 2y cm from it to give to Bob. She gave Lucas
30 cm of the cloth. She used all the remdining cloth to sew 7 similar dresses.

If Lyndi used equal length of cloth for each 'dress, what is the Iength of cloth used
for each dress? Give your answer in terms of y- i

-

“Answe, cm

2. - Dae made the cubond shown below usmg cubes of sndes 4 cm What is the volurne
of the cubmd'?

Answer: om’




3.

The bar graph below shows the number of tickets sold for a concert to a group of
children. = | - o

Number'of children

1 2 3 4 5
Number of tickets
How many children purchased more than 2 tickets?
Answer:




4.

. A group of girls shared some sweets among themselves. When each girl took 11
sweets, the last guri had 16 sweets. When each girl took 8 sweets, there were 32
sweelts left over. How many sweets were there altogether?

Answer:

Jamie takes 6 days to paint a house. Her sister takes 10 days to paint the same

- house. if they work together, what fraction of the house.will they be able to paint

in 3 days? Give your answer in its simplest form.

Answer:




For questi_ons 6 to 17, show your working cleaﬂy and write your answers in épaces
provided. The number of marks available is shown in brackets [ ] at the end of each
question or part-question. (45 marks)

6. Joash bought a total of 30 notebooks and pencil cases. Each notebook cost $9 and
each pencil case cost $3 more. The total cost of the pencil cases is $87 more than
the total cost of the notebooks.

(a) How many notebooks did Joash buy?

(b) How much did he spend en all the pencil cases?

Answer: (a) 3 {2}

(b). M

1 .
7. Ken travelled from his house to the park. He ran 3 of the journey in 3 minutes and

3 .
jogged < of the remaining journey. He walked the rest of the journey in 2.5 minutes

at an average speed of - 80m/min. What was Ken'’s running speed?

Answer: [3]




8'v

The line graph below shows the heth ofa mango tree measured in January of
each year from 201 1to 2016 ‘

8
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(a) In which year was the height the mango tree twice its height in 201 1?

a3 %

{b) Wiat was ihe avers ge

Answer: (a)

(b).
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The table below shows the number of buns sold at a bakery last week.

Day “Number of buns sold
Monday to Friday | 2y per day
Saturday y +50
Sunday 3y-15

(a) i y=28, whatwas the total number of buns sold last week?
(b) The buns were usually sold for $1.50 each. However, there was a 40% discount

on all the buns sold last week. How much did the bakery collect from the sales of
all the buns last week?

Answer:(a) -E2]

(b) g




10. X and Y are two rectangular containers. The base area of X is 90 cm? while that of
Y is 60 cm?. At first, X contained water to a height of 35 cm and Y was empty, as
shown below. Richard then poured some water from X to Y. After that, the height
of the water level in X was 4 times that in Y. What was the new height of the water

level in X?
.5‘ ' ] .; -
d }
o 0 |
4! I
e 1
R
|
1
35cm :
!
)__~
v £ -
X Y

Answer: 13




11. Roy had to paint a piece of paper. He painted : of the paper yellow and 85 cm? of
) .
the paper red. He then painted 3 of the remainder green and the rest biue. If the

1
area of the blue region is p of the area of the whole piece of paper, find the area of

the paper.

Answer: _ [3)
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112. In the figure below, not drawn to scale, BDEG is a square and. BCD is an lsosceies
. triangle. ABCis a stralght line. BF // CD and ZABG = 80° i

" (a) Find £BDC.

(b) Find £ZBFE.

- C
B h , D
80°
A
G F 1 E
‘Answer: (a) ___ R £}

(b) 3]
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13.  The table below shows the charges of a taxi company.

Flag Down ' $2.50
Every 200m up to 10km $0.10
Every 150m after 10km -$0.10
‘Morning Surcharge (7.00 a.m. to 9. 30 am)| $2.00

(é) Rachel took a taxi to wprk at 11.00 a.m. and travelled a total distance of 16km.
How much was her taxi fare?

(b) Ryan paid $18 for his taxi fare when he took a taxi at 8.30 a.m. What was the
maximum distance he could have travelled?

« Answer: (a) | . [2] B

(b) 2]




14.

12

The figure shows two quadrants of circles, centred at C and D respectively. Find the
difference between the area of the two shaded regions.

22
(Taken--_—7-‘~) o

28 cm

c 14 cm

D 14 cm

~Answer:

(4]




13 .

15. Marcus wants to make 35 large identical stars and 20 small identical stars using
wire. He has made 20 large stars and 14 small ones using 12.48 m of wire. The
length of wire he used for 5 small stars is the same as that for 4 large stars.

(a) How many small stars can be made with the same length of wire used to
make 20 large stars? . .

(b) Whatis the length of wire he needs to make the remaining stars?

1]

Answer: (a)

(b) [4)
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1 6.  “There are a total of 300 people at a party. The ratio of the number of men to the
number of ad'UIts is 3 : 5. The ratio of the number of boys to the number of children
is 1:2. The total number of males is 166. |
(a) How many adults are there at the party?

(b) How many girls are there at the party?

Anéwér: (a) L | [3]

(b) (2]




15

17. There were 27 pieces of $5 notes and $10 notes altogether in the piggy bank.
Lukas used 75% of the $5 notes and put in 12 more pieces of $10 notes. As a
result, the number of $5 notes was 40% the number of $10 notes.

(a) What was the total value of the $5 notes at first?

(b) What was the total amount of money Lukas had in the piggy bank in the end?

Answer: (a) -3l

.(5)- N N ',[2]

End of Paper _ N
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ANSWER KEY

YEAR 2018

LEVEL PRIMARY 6

SCHOOL TEMASEK PRIMARY

SUBJECT : MATHEMATICS

TERM PRELIMINARY EXAMINATION

Paper 1
Q1 3 Q4 3 Q7 1 Q10 2 Q13 4
Q2 3 Q5 2 Q8 1 Qi1 | 1 Q14 2
Q3 4 Q6 2 {1 QY | 2 Q12 4 Q15 1

Q16 53

Qi7 0.754

Q18 12

Q19 160

Q20 A

Q21 18

Q22 48 cm?

Q23 (a) Frontview

(b)
o | A4
i T
—}_ % _!___*_JJ:_T“_
Q24 $2.40
Q25 139°
Q26 $140

Q27 11:24 am




Q28 $360

3
Q29 by

Q30 170

Paper 2

Q1  7dress ~> 15m — 2y cm = 30 em
— (1500 — 2y — 30) cm
, —> (1470--2y) cm ,
Length of cloth per dress = (2-7-‘—)7-:32 ) cm

Q2  Vol. of 1 cnbe - (4 x 4 x 4) cm® = 64 cm®
Vol. of 1 cuboid — 64 cm® x 8 = 512 em®

Q3 No. of children > 45+ 15+ 15= 175

Q4  Let x be the number of girls
1ix+5=8x+32
Ix=27
X =27+3=9 girls
- No. of sweets > 9x8+32 = 104 sweets

Q5 Jamie — 1 day —»-i— house

Sister — 1 day —)—136 house

Together — 1 day — - + -11—0 = ——-’house

Fraction of house painted in 3 days —-) X 3 :> —

Q6 (a) 13 notebooks

(b) $204



Q7

Q8

Q9

Q10

niw
b

win
il

viinNe

4, _
7c journey = 200 m
- Journey 200 m x ==250 m

Speed of running = (250 +3) m/min => 83§'m/min-

(a)  Height of m‘ango tree in 2011 —>35cm
- 2 times the height —2>2x35cm="70cm
R =» In year 2013

()  Total height —> (50 + 70 + 95+ 130) em =345 cm
Avg. height > 345cm+4=>8625ecm

(2)  No. of buns sold in terms of y —> Zy'x 5+ y +50+ 3y—-15=14y +35
No. of buns sold — 28 x 14 + 35 => 427 buns sold

()  Amt of money 1 bun cost - $1.50 x == = $0.90

Amt of money bakery collected —> $0.90 x 427 = §384,30

Water —> (35 x 90) em® = 3150 em®

 Units of water in X — 90 cm? x 4 units = 360 units

Units of water inY — 60 cm x 1 unit = 60 umts
(360 + 60) units = 3150 cm*®
420 units = 3150 cm’®

4 units = 30 em

The new height in X is 30 em




Q11

Q12

1 }
5 40
yeﬂy’ }
} 25 units
. } .
_red 85 cm? }
Paper
\ green 2
: 3
remainder ‘ /
= - 85 cm?
(15units) \
2 1
5 G paper)

2 . 1
3 remainder = 3 paper

2 remainder ~ 2 aper
3 s P2P C

Remainder =3 units —> 15 units
8 units —> 40 units
25 units — 8 units = 17 units — 85 cm?
1 unit —> 85 cm?+ 17 =5 cm?

Area of paper = 5 cm? x 40 = 200 cm’

() * Zh—>180° - 90° - 80° = 10°

ZBDC—» (180° - 10°) + 2 = 85°

(b)) 4£BDC = Z¥BD (alternate angles in parallel lines)

Q13

ZF¥BD = 85°
ZBFE = 180° - 85° = 95°

(a) Tetal paid = $(2.50 + 5 + 4) = $i1.50

(b)  Fare for travelling — $18 - $2.00 - $2.50 = $13.50

Amt after first 16km — $13.50 - $5 = $8.50

Distance travelled —> 10 km + %%.x 150 m

= 10 km + 12750 m (+12.75 km) = 22.75 km



Q14 Area of rectangle — (28 x 14) cm‘2 =392 cm?
Area of quadrant — (28x28x %2-) c"mzf.- 4 é‘:616"cm2
Area of A, B and small quva’drant-k—-) (616 - 392) 'cm% 4=224 om?
Area of small quadrant — (14 x 14 XZ,’Z) cxﬁ2+ 4' =154 cm?

Area of A and B — (224 - 154) cm® =70 em?
Area of H and B — (616 - 154) cm®= 462 em?

Difference in two shaded parts = (462 —392) cm?=> 70 cm?

Q15 (a) 20large+ 14 small — 12.48 m
. .  39small > 12.48m

14 small > 12.48 m x = 4.48 m

Length of wire for 20 large stars (12.48 — 4.48) m =8 m
I small star — 12.48m+ 39=0.32m
No. of small stars — (8 + 0.32) m = 25 small stars

(b) No. of largeé'and small staxs — 15 large + 6 small
Small stars > 032 m x 6 =192 m

15 large stars — 8m x %?; =6m
Wire needed — (6 + 1.92) m = 7.92 m



Q16

Q17

(a) -

(b)

(b)

5 units + 2 parts — 300

(3 units + 1 part=166) x 2

6 units + 2 parts = 332

1 unit =332 - 300 =32

No. of adpita — 32 x5 = 160

3units >32x3=96
No. of girls — 166 —96 = 70

26 nnits —> 39

16 units —> 39x:—2= 24

~ Total value of $5 notes — 24 x $5 = 5120

oy 4
4 units —+39x26—

10 units — 39 x i’-: 15

Total value in the end —> 6 x 35 -+ 15 x $10 > $180



